JAI PRAKASH UNIVERSITY, CHAPRA (SARAN)

Tender Notice No. JPU/04/Eng. Cell/2025-26

Sealed tenders are invited from eligible contractors of appropriate categories in the State P.W.D. or similar other organizations, who can apply only in the prescribed application form. The name of work, estimated cost, earnest money, time limit for completion, etc., are as under:

SI. No.	Name of work	Estimated cost (INR)	Completion period (in months)	Earnest money (INR)	Cost of BOQ/Tender Document (INR)
1	Toilet (Science Block, Administrative Building, etc.) in the campus of J P University, Chapra.		2	19910.00	1250.00

- The tender document along with BOQ can be obtained from the office of the undersigned on payment of a non-refundable demand draft of the mentioned amount in favour of the Registrar, J P University, Chapra (Saran).
- ❖ Date of sale of BOQ & tender documents: From 25/09/2025 to 15/10/2025 (office hours)
- ❖ Last date & Time of receipt of tender documents: 17/10/2025 up to 1:00 PM
- Opening of tender: 17/10/2025 at 3:00 PM in the office of the Registrar, J P University, Chapra (Saran), in the presence of the contractors or their representatives.
- ❖ Details of the tender, including related information, terms, and conditions, can be viewed/downloaded on the university website: https://www.jpv.ac.in. The competent authority reserves the right to allot or cancel the tenders without assigning any reasons thereof.

Registrar

Jai Prakash University, Chapra (Saran)

74/09/2025

JAI PRAKASH UNIVERSITY, CHAPRA (SARAN

Notice Inviting Tender

- 1. Percentage rate tenders are invited on behalf of Registrar, J P University, Chapra (Saran), from registered contractors of appropriate categories of State P.W.D. or similar other organizations for the repairing and renovation of toilet (Science Block, Administrative Building, etc.) in the campus of J P University, Chapra, of an estimated cost of Rs. 995400.00 (Nine lakh ninety-five thousand four hundred only).
- 2. Agreement shall be drawn with the successful tenderers on the prescribed form F-2 of the Bihar Government. The tenderer shall quote their rate as per the above or below estimated cost, and the conditions of the said form, which will form part of the agreement.
- 3. The time allowed for carrying out the work will be 2 months from the date of issue of the work order.
- 4. Tender, which should always be placed in a sealed envelope, received by the authorized person up to 1:00 PM on 17.10.2025, and will be opened by a committee on 17.10.2025 at 3:00 P.M.
- 5. The tender shall be accompanied by earnest money of Rs. 19910.00 (Rs. Nineteen thousand nine hundred ten only) in the shape of a fixed deposit or demand draft, or NSC of any National/ Nationalized Bank /Post Office, duly pledged to the Registrar, J P University, Chapra (Saran).
- 6. The tenders shall be received in two envelopes. Envelope "A" shall contain the eligibility qualifications of the Contractor, such as registration of the contractor, Character Certificate, GSTIN, work experience certificate during the last three years, and the earnest money. The envelope "B" shall contain the financial bid and shall be marked on the left-hand corner of the sealed envelope. Financial Bid of only those

- contractors whose qualifications are found eligible shall be opened, and the earnest money placed in the envelope is found to be for the same.
- 7. Registrar, J P University, Chapra (Saran), does not bind itself to accept the lowest and any other tender and reserves the right to reject any or all of the tenders received without assigning a reason. All tenderers in which any of the prescribed conditions are not fulfilled or any condition, including that of a conditional rebate, is put forth by the tenderers shall be summarily rejected.
- 8. Canvassing, whether directly or indirectly in connection with tenders is strictly prohibited, and the tenders submitted by contractors who resort to canvassing will be liable to rejection.
- 9. Registrar, J P University, Chapra (Saran), reserves the right to accept the whole or any part of the tender, and the tenderers shall be bound to perform the same at the rate quoted.
- 10. The tender for the works remains open for acceptance for 90 days from the date of opening of tenders. If any tenderer withdraws his tender before the said period or makes any modification in the terms and conditions of the tender which are not acceptable to the department, then the college shall, without Prejudice to any other rights or remedy, be at liberty to forfeit 50% of the said earnest money as aforesaid.
- 11. You may please note that, selected for construction work, you shall have to sign an agreement on the pattern of form F-2 of the Bihar Government.
- 12. Original copies of all certificates must be produced at the time of signing of offers for verification of certificates.
- 13. This notice inviting tender shall form a part of the contract document. The successful tenderer/Contractor, on acceptance of his/her tender by the accepting authority, shall, within 7 days from the stipulated date of start of work, sign the contract consisting of A, Form F-2 of the Bihar Government.

- 14. In the case that the date of opening of tenders is declared as a holiday, the tenders will be opened on the next working day at the same time.
- 15. Name of work: repairing and renovation of toilet (Science Block, Administrative Building, etc.) in the campus of J P University, Chapra.
- 16. Time allowed for completion: Two (2) Months
- 17. Earnest money deposit: Rs. 19910.00 (Rs. Nineteen thousand nine hundred ten only).
- 18. Availability of tender documents: Tender document will be available from the office of Registrar, J P University, Chapra (Saran), from 25.09.2025 to 15.10.2025 during working hours.
- 19.Last date and time of receipt of tenders: Till 01.00 PM on 17.10.2025.
- 20. Date and time of opening tender: Part A: (Eligibility Qualification) at 03:00 PM on 17.10.2025, Part B: (Financial Bid) after opening of Part A
- 21. Tender to be addressed to: Registrar, J P University, Chapra (Saran)
- 22. Place of Opening tender: Registrar, J P University, Chapra (Saran)
- 23. Original copies of all certificates submitted earlier must be produced at the time of opening of offers for verification of the certificates already supplied.
- 24. Cost of B.O.Q. Rs. 1250/- (One Thousand two hundred fifty only)
- 25. Tender Documents along with B.O.Q. can be obtained from the office of Registrar, J P University, Chapra (Saran), on payment of Rs. 1250/- (One Thousand two hundred fifty only) in the shape of D.D in favour of Registrar, J P University, Chapra (Saran), payable at Saran.

Registrar

J P University, Chapra (Saran)

24/05/2025

JAI PRAKASH UNIVERSITY, CHAPRA (SARAN)

Bill of Quantity (BOQ) for repairing and renovation of toilets (Science Block, Administrative Building, etc.) in the campus of J P University, Chapra (Saran)

Rates are based on SOR 2022 (w.e.f. 01.01.2022) for civil work and SOR 2023 (w.e.f. 01.09.2023) for Electrical work

Amo	ount of B.O.Q.	(INR): 995400.00	A PARTY PROGRAMME WHEN PROMISED AND A PARTY OF THE	Film partition in project propriet Workshood, Serving Andre	of E.M.D. (II	JD 1. 100	10 00
The second secon	A CONTRACTOR CONTRACTO	(INR.): 1250.00	- anni mako pioni prendene poni perend	Cons	Action Davie	Secretarion College of the College o	TO.OO
SI.	Item Code		Description of work		Completion Period		production of collect appropriate and control of the collection of
No.				Unit	Quantity	Rato (Rs.)	Amou (INR
1	15.56	Dismantling old plaster and racking out joints		m²	104.22	21.70	2262.00
2	15.25	Dismantling P.S. flo disposing of the sa	poring and	m²	53.56	106.70	5713.00
3	4.1.3	Providing and la (1:2:4) in the po specified grade	ying C.C. osition of	M ³	2.67	3998.10	10675.0
4	22.14.1	Grading the r	oof for treatment	M ³	3.46	3990.30	13806.0
5A	15.44	Dismantling GI including excavation complete	Dismantling GI pipes, including excavation all		45	65.30	2938.00
5B	15.52	Dismantling of system of any s complete job.	flushing size – a	Each	14	396.10	5545.00
6		Dismantling and vitrified floor 600*600mm over 2 (1:4) complete job	tiles 20 mm C	M²	73.77	1638.80	120894
7	12.79	Providing and fixing UPVC moulded and accessories of 110 complete job	required	Each	Coupler 30 Bend 87.5° - 30	120.0 132.00	3600.00 3960.00
3	12.80	Providing and fixing die UPVC clip co		Each	100	182.72	18272.0
		Cost of carriage of m	naterials	M³	Stone chips3.07 Coarse sand 6-6	2455.73 1009.14	7539.00 6660.00
0	10.12	Dismantling windows, etc., ir shutters, holding complete job	fast -	Each	40	151.80	6072.00
	10.15	Providing and fixing steel door frame of sheet 1.25mm thick complete job	of steel ness –	m	22.75	432.60	9842.00
3	9.48.2	Providing M. S. Grill required pattern complete job.	of the	kg	214,20	161.10	34508.00
	9.20.1	Providing 35 mm thic door shutters of a c type a complete job	durable	M²	16.67	2845.60	47436.00
god to the second to	13.82,1 & 13.82.2	Painting with ready paint of an approved over wood works- cor job	-mixed brand	M²	70.76	123.2	8717.00

16	21.1.2.1	Painting and fixing At the shutters of doors, windows, etc.	Kg	255.80	447.20	114394.0
17	13.81.3 +13.82.1	Painting with ready-mixed paint of an approved brand over new steel works—a complete job.	M²	16.06	118.10	1896.00
18	1.3.3C	Wiring for light/fans/wall fans/exhaust fans/call bell point with 1.5 sq. mm F.R. PVC insulated copper conductor single core cable in recessed medium class PVC conduct in surface/recessed – complete job	Point	25	1146.0	28650.00
19	21.3.2	Providing and fixing glazing in the Al door with float glass panes of 5.5 mm thickness	M2	5.5	1115.10	6133.00
20	1.7.3	Wiring for circuit/submain wiring for 15A power point along with earth20 wire with 2*4 sq. mm + 1*4 F R PVC insulated copper conductor single core cable in surface - complete job.	m	20	309.0	6180.00
21	1.24.1+1.24.4	Supplying & fixing 5 pin 5/6 amp. Socket outlet and 5/6 amp. Modular type switch connection up on switch	Set	12	194.0	2328.00
22	6.1.4	board as required. Supplying and fixing of 9/20 Watt LED lamp type lamps –	Each	20	161	3220.00
23	5.5	a complete job. Supplying and fixing replaceable compact commercial batten suitable for double TB LED tube complete with 20 Watt LED – all complete	Each	10	1232.0	12320.00
24	8.17.2	Supplying and fitting 375 mm 230 volts sweep exhaust fan –all complete job.	Each	10	5560.0	55600.00
25	8.10.1	Providing and fixing stone slab with table rubbed, edges rounded and polished of size 75*50 cm deep fixed in urinal partitions of white Agoria marble stone	M²	11.25	3061.20	34438.00
26	15.7.4	Dismantling brickwork carefully and stacking the same – a complete job.	МЗ	1.5	823.7	1236.00
27	13.11.2	Providing 12 mm CP (1:4)	M2	104.72	152.90	15935.00
28	9.96 9.96(a) 9.96(b)	with sand – a complete job. Providing and fixing Al door bolts ISI markeda complete job. (a) 300*16 mm (b) 250*16 mm	Each	8	235.50	1884.00
29	9.97.1 + 9.97.4	Providing & fixing Al pull bolt lock transparent or dyed to required colour & shade with	Each	9 35 37	210.10 111.40 71.60	1891.00 3899.00 2649.00

		necessary screws -all complete job.	er de de la companya	di mani dan yang abandan terbini menjungan di pada ang ang ang ang ang ang ang ang ang an		
30	9.98	Providing & fixing Al pull bolt lock, transparent or dyed to required colour & shade with necessary screws -all complete job.	Each	55	78.40	4312.00
31	9.1	Providing & fixing Al handles transparent and dyed to required colour or shade with necessary screws - all complete job.	Each	30 35	57.10 50.30	1713.00 1760.00
32	17.31	Providing & fixing 600* 400 mm beveled edge mirror of superior glass, complete with 6 mm thick hardboard ground fixed to wooden cleats with CP brass screws and washer-complete job.	Each	8	1068.5	8548.00
33	11.36	Providing and fixing 1st quantity ceramic glazed wall tiles of approved make over 12 mm CP (1:3) all complete job.	M2	56	795	44520.00
34	13.48	Finishing wall with two or more coat delux multisurface paint system including primer coat - all complete job.	M2	213	117.4	25006.00
35	17.1.1	Providing & fixing W C squating pan (Indian) with 100 mm sand cast iron P or S trap, 10 lit. low fixture complete cutting and making in wall -all complete job.	Each	18	4470.9	80476.00
36	17.3.1	Providing & fixing white vitrious china pedestrial type W C (European) with seat and lid, 10 lit. low level flushing cisterm 2CP flush bend - all complete job.	Each	5	5504.3	27521.00
37	17.7.2	Providing & fixing wash basin with C I bracket 15 mm CP brass pillar taps, 32 mm CP brass waste of standard pattern all complete job.	Each	8	2369.9	11849.00
38	17.28.1.1	Providing & fixing PVC waste pipe for the wash basin, including PVC waste fitting a complete job.	Each	40	91	3640.00
39	18.8	Providing and fixing CPVC pipe having thermal stability for hot & cold water supply, including all CPVC pipe & brass, threaded fitting, including fixing the pipes with clamps at 1M spacing-a complete job.	m	15mm 60mm 20mm 25mm dia 10 mm 32mm-10m	278.20 350.80 463.10 549.80	16692.00 12278.00 4631.00 5498.00
40	18.9	Providing & fixing CPVC pipe having thermal stability for	m	40mm dia 50mm-10m	477.60 730.30	2388.00 7303.00

		hot & cold water supply including all C PVC plane and brass threaded fittings – a complete job.	ett er til kolt mån ett skalt til er tallet til en en skalt en en skalt en en skalt en en en en skalt en en en		en e	
41	17.4.1	Providing & fixing white vitreous china flat back or wall corner type leaped front urinal basin of 430*260*350mm — a complete job	Each	12	3723.20	44678.00
42	18.49	Providing & fixing CP Brass bib cock of all approved quality	Each	20	434.20	8684.00
43	18.19	Providing & fixing gun metal non-return valve of approved quality -all complete job.	Each	Horizontal 3 No. Vertical 3 No.	815.0 1049.20	2445.00 3148.00
44	12.78	Providing 110mm diameter wall take UPVC rainwater pipes all complete job	М	54	257.50	13905
45	18.52	Providing & fixing CP Brass stop cock of standard design and approve qualityall complete job	Each	15	594.8	8922
46	18.17	Providing & fixing gun metal gate value with C.I wheel of approved qualityall complete job.	Each	40mm-5	707.3	3536

Total Rs. 944529.00

GST (5.36%) Rs. 50910.00

Grand Total Rs. 995400.00 (Nine lakh ninety-five thousand four hundred only)

Registrar

Jai Prakash University, Chapra (Saran)

24/09/25

OFFER

1.	I / We have carefully gone through the enclosed items of work and other papers for the work.							
2.	I / We shall execute the work:							
Ĩ.	a. At estimated rates or							
	b Percent above the estimated rates or							
	cPercent below the estimated rates							
	Note: (i) Fill in the figure and words							
3	(ii) Strike out the two that are not applicable							
	I / We shall execute the work within the time of completion from the date of the work order.							
4.	Earnest money amounting to							
	Rs							
	Details of Earnest Money:							
I	ist of documents:							
1	. Bills of Quantities							
2	하지 않아졌다면서 하다면서 되었다. 여자는 전에 가장 하는 것이 되었다. 그 사람은 전에 가장하는 것 같아.							
3								
4	Registration of Contractor for appropriate categories							
5	, 선생님이 되는 사람들이 하는 하루팅을 보면 하는데 보고 있는데 보고 있다. 그리고 있는데 보고 있는데 보고 있는데 보고 있는데 보고 있는데 보고 있는데 보고 있다. 그리고 있는데 보고 있는데 보							
6.								
	Place: Signature							
	Date: Name & Designation							
	Seal of							

Contractor/Firm/Organization